
Answers

1.    A. B. C. ⬚        ⬚       ⬚
 ⬚        ⬚       ⬚2.    A. B. C.

 ⬚        ⬚       ⬚       ⬚3.    A. B. C. D.

 ⬚        ⬚       ⬚       ⬚4.    A. B. C. D.

__________ miles per hour5.a) 

The number of road deaths has b) 
since 1934. 

The difference is                         50%. 

______________________________6.a) 
______________________________
______________________________

 ___________ milesb)

______________________________7.a) 
______________________________
______________________________

 ⬚    ⬚ b) Yes No
Use the space under your
workbook for working out

⬚ increased

⬚ decreased

⬚ more than

 less than⬚
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